Power series.

A series of the form

$$\sum_{k=0}^{\infty} a_{k} x^{k} = a_{o} + a_{1} x + a_{2} x^{2} + a_{3} x^{3} + \cdots$$
is called a power series in x.
Here, x is a variable and $a_{k}^{*}s$ are constants
called the coefficients of the series.
Ex. If $a_{k} = 1$ for all k, the power series
becomes the geometric series (G.S.)

$$\sum_{k=0}^{\infty} x^{k} = 1 + x + x^{2} + \cdots + x^{k} + \cdots$$
More generally, we have
Def. A series of the form $\sum_{k=0}^{\infty} a_{k} (x - c)^{k}$ is
called a power series in (x - c), or a power
series about c.
Go: When we say a power series converges or
diverges?
Def- A power series $\sum a_{k} (x - c)^{k}$ is
said to converge:
(1) at L if $\sum a_{k} (1 - c)^{k}$ converges,

$$\begin{aligned} & (\mathfrak{d}: \mathcal{H}_{ov} \text{ to find the I.C. for a governments?} \\ & \overline{F_{act}}: \text{ To find the I.C. of the power services} \\ & \overset{\circ}{\underset{K=1}{\overset{\circ}{\underset{K=1}{\overset{\circ}{\underset{K=1}{\overset{\circ}{\underset{K=2}{\overset{\circ}{\underset{K=1}{\underset{K=1}{\overset{\circ}{\underset{K=1}{\overset{\circ}{\underset{K=1}{\overset{\circ}{\underset{K=1}{\underset{K=1}{\overset{\circ}{\underset{K=1}{\underset{K=1}{\overset{\circ}{\underset{K=1}{\underset{K=1}{\overset{\circ}{\underset{K=1}{\underset{K=1}{\underset{K=1}{\overset{\circ}{\underset{K=1}{\underset{K=1}{\underset{K=1}{\overset{\ast}{\underset{K=1}{\atopK=1}{\underset{K=1}{\underset{K=1}{\underset{K=1}{\underset{K=1}{\underset{K=1}{\underset{K=1}{\underset{K=1}{\underset{K=1}{\underset$$

If
$$x=3$$
, then $\sum_{K=1}^{\infty} \frac{K}{3^{K+1}} 3^{K} = \sum_{K=1}^{\infty} \frac{K}{3}$
 $\int_{K=-\infty}^{K} \frac{K}{3} = 0 \pm 0$, so the series is div.
If $x=-3$, then $\sum_{K=1}^{\infty} \frac{K}{3^{K+1}} (-3)^{K} = \sum_{K=1}^{\infty} (-1)^{K} \frac{K}{3}$
 $\int_{K\to\infty}^{K} \frac{K}{3} = 0 \pm 0$, so the series is div.
Thus, the T.C. is $(-3, 3)$.
Now, the R.C. is $r = \frac{3-(-3)}{2} = \frac{6}{2} = 3$.
(2) $\sum_{K=0}^{\infty} \frac{(10^{K})(X-1)^{K}}{(K!)} \ll b_{K} (let)$.
Sam $L = \int_{K\to\infty}^{\infty} \frac{b_{K+1}}{b_{K}} = \int_{K\to\infty}^{\infty} \frac{10^{K+1}}{(K+1)} |X-1|^{K+1} \frac{K!}{b_{K}} \frac{K!}{b_{K}} = \int_{K\to\infty}^{\infty} \frac{10^{(X-1)}}{(K+1)} = 0 < 1$.
Thus, $L < 1$ always (regardless of the value of X).
So, T.C. is $(-\infty, \infty)$ and R.C. is $r = \infty$.

 $(3) \sum_{k=1}^{\infty} \frac{\sqrt{\chi^{k}}}{\chi \psi^{k}} = b_{k}.$ $Soln \cdot l = \lim_{k \to \infty} \left| \frac{b_{k+1}}{b_k} \right| = \lim_{k \to \infty} \frac{|\chi|^{k+1}}{(k+1)y^{k+1}} \cdot \frac{ky^k}{b_k x^k}$ $=\frac{|x|}{4}\int_{K\to\infty}\frac{k}{K+1}=\frac{|x|}{4}.$ Then l < 1 when $|\chi| < 4$, j.e. (4×4) . If $\chi = 4$, then $\sum \frac{1}{k} \frac{1}{\sqrt{k}} = \sum \frac{1}{k} \frac{div}{div} (P=1)$ test. If x=-4, then $\sum \left(-1\right)^{\frac{y}{k}} \frac{y^{\frac{y}{k}}}{\frac{y}{\frac{y}{k}}} = \sum \frac{\left(-1\right)^{\frac{y}{k}}}{\frac{y}{\frac{y}{k}}}$, $\int_{K \to V} \frac{1}{K} = 0 \quad \text{and} \quad \left(\frac{1}{K}\right)' = -\frac{1}{K^2} \quad \text{fo , so the}$ seq. if is decreasing, hence Z (-1)k is Conv. In summary, the I.C. is [-4, 4]. The R.C. is f = 4. $(4) \sum_{k=0}^{\infty} (k! (x-5)^{k}) = b_{k}.$ K+1 Soln. $L = \int_{k \to \infty} \frac{b_{k+1}}{b_k} = \int_{k \to \infty} \frac{k_{+1}}{k_{+} \to \infty} \frac{k_{+1}}{k_{+} + \frac{k_{+}}{k_{+} + \frac{$ Thus, the I.C. is \$5} and hence the R.C. is r=0.

$$(5) \sum_{k=1}^{d} \frac{(k-5)^{k}}{k^{2}} = b_{k}.$$
Soln $\int = \int_{k \to \infty} \frac{b_{k+1}}{b_{k}} = \int_{k \to \infty} \frac{1}{(k+1)^{2}} \frac{k^{2}}{1x-5} \frac{k^{2}}{1x-5} \frac{k}{k}$

$$= |x-5| \int_{k \to \infty} \frac{k}{(k+1)^{2}}$$

$$= |x-5| \cdot \frac{k}{(k+1)^{2}}$$

$$= |x-5| \cdot \frac{k}{(k+1)^{2}}$$

$$= |x-5| \cdot \frac{k}{(k+1)^{2}}$$

$$= |x-5| \cdot \frac{k}{(k+1)^{2}}$$
Then $\int \langle 4 + \frac{1}{k} \frac{k}{k} - 5 | \langle 1, -4 \rangle - 5 \langle$

$$\begin{aligned} G & \sum_{k=3^{K}} \frac{|k+2|^{k}}{|k+2|^{k}} = \int_{k\to\infty} \frac{|k+2|^{k+1}}{|k+2|^{k+1}} \frac{k^{2}g^{k}}{|k+2|^{k}} \\ &= \frac{|k+2|}{3} \left(\int_{k\to\infty} \frac{k}{k+1} \right)^{2} = \frac{|k+2|}{3} \\ \text{Then } \int_{k=1}^{k} \frac{|k+2|}{3} < 1 \\ \text{Then } \int_{k=1}^{k} \frac{|k+2|}{3} < 1 \\ \frac{|k+2| < 3}{3} < 1 \\ \frac{|k+2| < 3}{5} \\ \frac{-3 < k+2 < 3}{5} \\ \frac{G^{k} k < 1}{k^{2} 3^{k}} = \sum_{k=1}^{k} \frac{conv}{k} (P.T.) \\ \frac{H}{k} x = -5, \text{ then } \sum_{k=1}^{k} \frac{G^{k} (H)^{k}}{k^{2} 3^{k}} = \sum_{k=1}^{k} \frac{conv}{k} (P.T.) \\ \frac{H}{k} x = 1, \text{ then } \sum_{k=2}^{k} \frac{G^{k} (H)^{k}}{k^{2} 3^{k}} = \sum_{k=1}^{k} \frac{Conv}{k} (P.T.) \\ \frac{G}{k} \sum_{k=1}^{k} \int_{k=1}^{k} \frac{G^{k} (H)^{k}}{k^{2} 3^{k}} = \sum_{k=1}^{k} \frac{G^{k}}{k} (G^{k})^{k} \\ \frac{G}{k} \sum_{k=1}^{k} \int_{k=1}^{k} \frac{G^{k} (H)^{k}}{k^{2} 3^{k}} = \sum_{k=1}^{k} \frac{G^{k}}{k} (G^{k})^{k} \\ \frac{G}{k} \sum_{k=1}^{k} \int_{k=1}^{k} \frac{G^{k} (H)^{k}}{k^{2} 3^{k}} = \sum_{k=1}^{k} \frac{G^{k}}{k} (G^{k})^{k} \\ \frac{G}{k} \sum_{k=1}^{k} \int_{k=1}^{k} \frac{G^{k} (H)^{k}}{k^{2} 3^{k}} = \sum_{k=1}^{k} \frac{G^{k}}{k} (G^{k})^{k} \\ \frac{G}{k} \sum_{k=1}^{k} \int_{k=1}^{k} \frac{G^{k}}{k} (G^{k})^{k} \\ \frac{G}{k} \sum_{k=1}^{k} \int_{k=1}^{k} \frac{G^{k}}{k} (G^{k})^{k} \\ \frac{G}{k} \sum_{k=1}^{k} \frac{G^{k}}{k} (G^{k})^{k} \\ \frac{G}{k} (G^{k})^{k$$

 $(7) \underbrace{\sum_{k=1}^{\infty} \frac{2^{k}}{\kappa^{2}}}_{\kappa^{2}} (\chi + 2)^{k}.$ Exc. Final Ans. [-5,-3]. (8) $\sum \frac{(2\kappa)!}{(3\kappa)!} \chi^{\kappa}$ Exc. Final Ans. (-00,00)

Representation of functions as power series. Recall that the geometric series $\sum_{k=0}^{\infty} x^k = \frac{1}{1-x}$. This series converges for |x| < 1. Ex: Express the given func as a power series and find the interval of convergence. $(1)f_{1(X)} = \frac{1}{1+X}$ Soln. The G.S. says that $\frac{1}{1-\chi} = \sum_{k=0}^{\infty} \chi^k$, $|\chi| < 1$. Replace x with - x to get $\frac{1}{1+x} = \frac{1}{1-(-x)} = \sum_{k=1}^{\infty} (-x)^{k} = \sum_{k=1}^{\infty} (-1)^{k} x^{k}.$ This series converges for I-x1<1, that is, for 1x1<1 Therefore, the I.C. is (-1,1).

Soln. From item (1), we have $\frac{1}{1+\chi} = \sum_{k=0}^{\infty} (-1)^k \chi^k$.

 $(2)f(x) = \frac{1}{1+x^2}$.

Replace x by x² to obtain $\frac{1}{1+\chi^2} = \sum \left(-1 \right)^K \left(\chi^2 \right)^K = \sum \left(-1 \right)^K \chi^{2K}$ This series conv. for 1x2/<1, that is, for 1x)<1. (3) $f(x) = \frac{2x}{1-x^3}$. Soln. The G.S. states that $\frac{1}{1-x} = \sum_{k=0}^{\infty} x^k$, |x|<1. Replacing x with x3, we have $\frac{1}{J-\chi^3} = \sum \left(\chi^3\right)^{\kappa} = \sum \chi^{3\kappa}$ Multiplying both sides with 2x, we get $\frac{2x}{1-x^3} = 2x \sum \chi^{3k} = \sum 2\chi^{3k+1}.$ This series converges for 1 x 3 × 1, that is, for 1x 1×1. (4) $f(x) = \frac{x^3}{x+2}$. Soln. Note that $\frac{1}{x+2} = \frac{1}{2\left(1+\frac{x}{z}\right)} = \frac{1}{2\left(1-\left(\frac{-x}{z}\right)\right)}$ Now, the G.S. states that $\frac{1}{1-\chi} = \sum_{\kappa=1}^{\infty} \chi^{\kappa}, \quad |\chi| < 1.$

Replace x by
$$\frac{-x}{2}$$
 to get

$$\frac{1}{1-(\frac{x}{2})} = \sum_{k=0}^{\infty} (\frac{-x}{2})^{k} = \sum_{k=0}^{\infty} \frac{(-1)^{k}}{2^{k}} x^{k}.$$
Multiply both sides with $\frac{x^{3}}{2}$ to obtain
 $\frac{x^{3}}{x+z} = \frac{x^{2}}{2} \frac{1}{1-(\frac{-x}{2})} = \frac{x^{3}}{2} \sum_{k=0}^{\infty} \frac{(-1)^{k}}{2^{k}} x^{k} = \sum_{k=0}^{\infty} \frac{(-1)^{k}}{2^{k+1}} x^{k+3}.$
This series converges for $|-x|<1$, that is, for $|x|<2$.
Therefore, the $I.C.$ is $(-2,2)$.
Differentiation and integration of power series.
Thus if $f(x) = \sum_{k=0}^{\infty} a_{k} (x-c)^{k}$ converges with R.C.
 r , then $f(x)$ is differentiable (and hence continuous)
on $(c-r, c+r)$, and
(i) $f(x) = \sum_{k=0}^{\infty} d_{k} [a_{k}(x-c)^{k}] = \sum_{k=0}^{\infty} A^{k} a_{k} (x-c)^{k+1}$
converges on $(c-r, c+r)$.
(2) $\int f(x) dx = \sum_{k=0}^{\infty} \int [a_{k} (x-c)^{k}] dx = \sum_{k=0}^{\infty} \frac{a_{k}}{k+1} (x-c)^{k+1}$
Note that the R-Cs of the power series in (1) and (2)
are both r .

Ex. The following power series

$$\int_{k=0}^{\infty} \chi_{k,2}^{k} = \int_{k=1}^{\infty} \chi_{k,2}^{k-1} = \int_{k=0}^{\infty} \chi_{k,1}^{k-1} = \int_{k=0}^{\infty} \chi_{k,1}^{k-1}$$

Integ. both sides to obtain

$$t_{an}^{-1} x = \int \frac{dx}{1+x^2} = \sum_{k=0}^{\infty} (-1)^k \int \chi^{2^k} dx = \sum_{k=1}^{\infty} \frac{(-1)^k}{2k+1} \chi^{2^{k+1}} + C.$$
(3) $f(x) = h(1-2x) < = -2 \int \frac{dx}{1-2x}.$
Solu: $\frac{1}{1-x} = \sum_{k=0}^{\infty} \chi^k$, $1 \times 1 < 1.$
Replacing χ with $2x$, we get $\frac{1}{1-2x} = \sum_{k=1}^{\infty} (2x)^k = \sum_{k=1}^{\infty} \chi^{k+1}.$
Integrating both sides, we get $\int \frac{dx}{1-2x} = \sum_{k=1}^{\infty} \frac{2^k}{2^{k+1}} \chi^{k+1}.$
Then $\ln(1-2x) = -2 \int \frac{dx}{1-2x} = -2 \sum_{k=1}^{\infty} \frac{2^k}{2^{k+1}} \chi^{k+1}.$
Thus, $\ln(1-2x) = \sum_{k=0}^{\infty} \frac{-1}{k+1} (2x)^{k+1} + C.$
This series conv. for $|2x| < 1$, that is, for $|x| < \frac{1}{2}$.
(4) $f(x) = \ln(1+x) = \sum_{k=0}^{\infty} (-1)^{k-1} \frac{x^k}{k} + C.$ Ixi(1.
To find the value of C we put $x = 0$ and
get $C = \ln(1+0) = 0$.

Exercises $\sum_{k=0}^{\infty} (1+x)^k = C.$
This is Example 8, Page 756 (Stewart 8E).

 $\frac{\int \sigma \ln - \frac{1}{1 + \chi^{7}}}{1 + \chi^{7}} = \frac{1}{1 - (-\chi^{7})} \stackrel{\text{G.S.}}{=} \sum_{K=0}^{\infty} (-\chi^{7})^{K} = \sum_{K=0}^{\infty} (-1)^{K} \chi^{7K}.$ Integrate both sides to get $\int \frac{dx}{1+\chi^{7}} = \sum_{k=0}^{\infty} \frac{(-1)^{k}}{7^{k+1}} \chi^{7^{k+1}} + C$ This series converges for]-x7 < 1, that is, for 1xK1. Ex. Sum the series $\sum_{k=0}^{\infty} \frac{\chi^k}{\kappa}$ for all χ in (-1,). Soln. let $f(x) = \sum_{k=0}^{\infty} \frac{x^k}{k}$ (f is worted) then $f'(x) = \sum_{k=0}^{\infty} \frac{k x^{k-1}}{k} = \sum_{k=1}^{\infty} \chi^{k-1} = \sum_{n=0}^{\infty} \chi^n \frac{G.S.}{1-\chi}.$ Since $f'(x) = \frac{1}{1-x}$, $f_{x} = \int \frac{dx}{1-x} = -\ln(1-x) + C$. But f(0) = 0. Then $f(x) = -\ln(1-x) = \ln\left(\frac{1}{1-x}\right)$. Thus, $\sum_{k=1}^{\infty} \frac{\chi^k}{\kappa} = \ln\left(\frac{1}{1-\chi}\right)$, for all $\chi \in (-1,1)$.

This lecture: Power series. Next lecture: Taylor series. Searching keywords:

- Test the series for convergence or divergence والمتتالية للتقارب أو
- Power series, interval of convergence, radius of convergence
- Representation of functions as power series
- Differentiation and integration of power series
- The University of Jordan الجامعة الأردنية
- Calculus II 2 تفاضل وتكامل
- Baha Alzalg بهاء الزالق

References: See the course website

http://sites.ju.edu.jo/sites/Alzalg/Pages/102.aspx

For any comments or concerns, please use my email to contact me.



This material might not be used for commercial purposes.

A Copyright: All Rights Reserved. B. Alzalg, 2020, Amman, Jordan.